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�4=<5=G64==O 

?>>47=<>V6 

 
�4?G7L 7=4=L, =4?DO< 
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45==4 D>D<4 
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4VO?L=VEFL» 

$V> ?V47>F>6><: 
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&<6=56<E 7>4<= 4?O 
45==>W D>D<< =46G4==O: 

4G4<F>D=<E 3 6 
E4<>EFV==>W D>5>F< 3 5,25 

 
 
 
 

�E6VF=V= EFG?V=L «54>4?46D» 

  32 7>4.          6 7>4. 

�D4>F<G=V 

  64 7>4.         10 7>4. 
�45>D4F>D=V 

7>4.             7>4. 
%4<>EFV==4 D>5>F4 

  84 7>4.  164 7>4. 
 

�<4 >>=FD>?N:, 5>74<5= 

 
%?V66V4=>L5==O >V?L>>EFV 7>4<= 4G4<F>D=<E 74=OFL 4> E4<>EFV==>W F4 

V=4<6V4G4?L=>W D>5>F< EF4=>6<FL: 
4?O 45==>W D>D<< =46G4==O 3 53,3 % 4G4<F>D=<E 74=OFL, 46,7 % E4<>EFV==>W 

F4  V=4<6V4G4?L=>W D>5>F<; 
4?O 74>G=>W D>D<< =46G4==O  7  8,9 % 4G4<F>D=<E 74=OFL, 91,1 % E4<>EFV==>W  

F4 V=4<6V4G4?L=>W D>5>F<. 
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2. �5F4 F4 74644==O =46G4?L=>W 4<EF<??V=< 
 

�5F>N =46G4?L=>W 4<EF<??V=< T D>D<G64==O E<EF5<< 7=4=L 7 <5F>4>?>7VW 
D>7D>5?5==O ?5DE?5>F<6=<E V ?>F>G=<E ??4=V6 G 4VO?L=>EFV ?V4?D<T<EF64 F4 
>>=FD>?N WE 6<>>=4==O. 

�4644==O<< 6<6G5==O =46G4?L=>W 4<EF<??V=< T: 
- >?4=G64==O D>D<, <5F>4V6 V ?D>F5EG ??4=G64==O V >>=FD>?N; 
- 6<6G5==O EFDG>FGD< V F5E=>?>7VW D>7D>5?5==O F<?>6<E ??4=V6 M>4> 

5>>=><VG=>7> V E>FV4?L=>7> D>76<F>G ?V4?D<T<EF64; 
- D>D<G64==O E>?44G ?>>47=<>V6 V <5F>4<>< WE D>7D4EG=>G; 
- >?F<<V74FVO 6<D>5=<G>W ?D>7D4<<. 
�<VEF =46G4?L=>W 4<EF<??V=< =4?D46?5=<= =4 D>D<G64==O =4EFG?=<E 

>><?5F5=F=>EF5=, 6<7=4G5=<E EF4=44DF>< 6<M>W >E6VF< 7V E?5FV4?L=>EFV 076 
«�V4?D<T<=<FF6>, F>D7V6?O F4 5VD6>64 4VO?L=VEFL»: 

��. �44F=VEFL D>769O7G64F< E>?44=V E?5FV4?V7>64=V 74644==O F4 ?D>5?5<< G 
ED5D4E ?V4?D<T<=<FL>>W, F>D7>65?L=>W F4 5VD6>6>W 4VO?L=>EFV 45> 6 ?D>F5EV 
=46G4==O, M> ?5D5454G4T 74EF>EG64==O F5>DV= F4 <5F>4V6 >D74=V74FVW V 
DG=>FV>=G64==O ?V4?D<T<=<FL><E, F>D7>65?L=<E, 5VD6>6<E EFDG>FGD V 
E4D4>F5D<7GTFLEO >><??5>E=VEFN F4 =56<7=4G5=VEFN G<>6. 

�� 6. �44F=VEFL 4> ?>LG>G, >5D>5?5==O F4 4=4?V7G V=D>D<4FVW 7 DV7=<E 
465D5?. 

$� 10. �44F=VEFL 4> 5V7=5E-??4=G64==O, >FV=N64==O >>='N=>FGD< D<=>V6 V 
D57G?LF4FV6 4VO?L=>EFV G ED5DV ?V4?D<T<=<FF64, F>D7V6?V F4 5VD6>6>W ?D4>F<>< 7 
GD4EG64==O< D<7<>V6. 

$� 13. �44F=VEFL ?D>6>4<F< 4=4?V7 DG=>FV>=G64==O F4 D>76<F>G EG59T>FV6 
7>E?>44DN64==O, EF4=G DG=>FV>=4?L=<E ?V4E<EF5< ?V4?D<T<EF6, >D74=V74FV= F4 
GEF4=>6. 

�FD<<4=V 7=4==O 7 =46G4?L=>W 4<EF<??V=< EF4=GFL E>?44>6<<< =4EFG?=<E 
?D>7D4<=<E D57G?LF4FV6 =46G4==O 74 E?5FV4?L=VEFN 076 «�V4?D<T<=<FF6>, 
F>D7V6?O F4 5VD6>64 4VO?L=VEFL»: 

�$�5. �D74=V7>6G64F< ?>LG>, E4<>EFV==<= 6V45VD, O>VE=G >5D>5>G 
V=D>D<4FVW 7 DV7=<E 465D5? 4?O D>D<G64==O 54=>V6 44=<E G ED5DV 
?V4?D<T<=<FF64, F>D7V6?V F4 5VD6>6>W 4VO?L=>EFV.  

�$�20. �=4F< >E=>6< 5V7=5E-??4=G64==O, >FV=N64==O >>=9N=>FGD< D<=>V6 
F4 D57G?LF4FV6 4VO?L=>EFV ?V4?D<T<=<FL><E, F>D7>65?L=<E V 5VD6>6<E EFDG>FGD 7 
GD4EG64==O< D<7<>V6. 

�$�22. �<VF< 4=4?V7G64F< F4 >FV=N64F< 5D5>F<6=VEFL DG=>FV>=G64==O F4 
D>76<F>G EG59T>FV6 7>E?>44DN64==O, EF4= DG=>FV>=4?L=<E ?V4E<EF5< 
?V4?D<T<EF6, >D74=V74FV= F4 GEF4=>6. 

 
 
 

 
 
 



 
 

�<F><<DEL>4 
?>?VF5E=V>4 

����%&�$%&�� �%��&� � ��'�� '�$���� 
��$������ '����$%�&�& «��&���$%,�� ����&�%����» 
%<EF5<4 G?D46?V==O O>VEFN 6V4?>6V44T �%&' ISO 9001:2015 

$-19.09- 
05.01/076.00.1/�/�� 

5.1-2023 

�>75<??OD 7 1 �D> 23/ 4 

 

3. �D>7D4<4 =46G4?L=>W 4<EF<??V=< 
 

�<VEF>6<= <>4G?L 1. &5>D5F<>>-<5F>4<G=V 74E44< ??4=G64==O V 
>>=FD>?N =4 ?V4?D<T<EF6V 

 
&5<4 1. %GF=VEFL ??4=G64==O F4 >E>5?<6>EFV =>7> 74V=E=5==O =4 

?V4?D<T<EF6V 
1. �>=OFFO F4 D>?L ??4=G64==O G 7>E?>44DEL>V= 4VO?L=>EFV ?V4?D<T<EF64 

%GF=VEFL ??4=G64==O. �?4=G64==O 6 F5D<V=4E 7474?L=>?>?VF<G=>7>, 
E>FV4?L=>7>, 5>>=><VG=>7> V >G?LFGD=>7> E5D54>6<M4, 45 6>=> 74V=E=NTFLEO. 
�?4=G64==O O> D>7G<>6<= ?D>F5E. %>FV4?L=<= 4E?5>F ??4=G64==O. 
�74T<>74?56=VEFL D>7G<>6>7> F4 E>FV4?L=>7> ?D>F5EV6 G ??4=G64==V. %<=F57 
<4>D>- V <V>D>?V4E>4V6 4> ??4=G64==O; G77>465==O =<>6VD=>7> V 5464=>7> 
<4=5GF=L>7>. 

%GG4E=<= <5F>4>?>7VG=<= ?V4EV4 4> ??4=G64==O O> 4VO?L=>EFV, M> 
>DVT=F>64=4 =4 ?D<==OFFO DVL5=L 74 G<>6< >5<565=>EFV 5>>=><VG=<E D5EGDEV6 
F4 4?LF5D=4F<6=>EFV WE 6<>>D<EF4==O. 

2. �>=F5?FVW ??4=G64==O 

$V?>E>DEL>V >>=F5?FVW ??4=G64==O. �474?L=4 E4D4>F5D<EF<>4 FDL>E 
DV?>E>DEL><E >>=F5?FV= ??4=G64==O: D>D<4?L=>W, V=>D5<5=F4?L=>W F4 
E<EF5<=>W. 

$>D<4?L=5 ??4=G64==O, =>7> EGFL, ?5D54G<>6<, ED5D4 6<>>D<EF4==O. 
�>6?<6VEFL EFDG>FGDG64==O E>?44=<E ?D>5?5< F4 ?>LG> 6V4?>6V4=>7> 
EF4F<EF<G=>7> <5F>4G G< F5E=V>< <>45?N64==O 4?O ??4=G64==O. �5<565=VEFL 
D>D<4?L=>7> ??4=G64==O. 

�=>D5<5=F4?L=5 ??4=G64==O O> 4=F<F574 D>D<4?L=>7>. �<7=4G5==O D>D<< = 
EGFV ??4=G64==O 6V4?>6V4=> 4> F<E >5EF46<=, 6 O><E 6>=> 74V=E=NTFLEO. 
�<7=4G5==O 4<=4<V7<G ?D>5?5<, 4>6VD4 4> ?N4EL><E 7=4=L F4 V=FGWFVW. 
%?D>M5==O F4 =44 G?GM5==O V=>D5<5=F4?L=<E <>45?5=. 

%<EF5<=<= ?V4EV4 4> ??4=G64==O O> E<=F57 46>E ?>?5D54=VE. �E=>6=4 <5F4 
E<EF5<=>7> ??4=G64==O. �74T<>4VO V7 7>6=VL=V< E5D54>6<M5< 74 G<>6< =>7> 
=56<7=4G5=>EFV F4 =5?5D5454G5=>EFV 6 E<EF5<=><G <>45?N64==V. 

3. �5F>4>?>7VO ??4=G64==O 

�V?L>VE=V F4   O>VE=V   <5F>4<   V45=F<DV>4FVW   >D<F5DVW6   V   6<5>DG   ??4=G. 
�?4=G64==O O> 557?5D5D6=<= ?D>F5E. 

$4FV>=4?L=<= 6<5VD G ??4=G64==V. $4FV>=4?L=VEFL O> 74EV5 4D7G<5=F4FVW 
4>?GM5=L V 6<E=>6>V6. $4FV>=4?L=<= 6<5VD, =>7> DV7=>6<4<. &5E=VG=<= F4 
5>>=><VG=<= 6<5VD <V>D>E<EF5<<. �474F>4E?5>F=VEFL V ?>T4=4==O ?D>5?5< 
??4=G64==O, WE <5F4 V D4FV>=4?L=VEFL. �DV>D<F5F=VEFL DV7=<E >D<F5DVW6 
D4FV>=4?L=>7> 6<5>DG >5�DG=FG64==O DVL5=L. �474?L=V V E?5FV4?L=V <5F>4< 
??4=G64==O, WE E4D4>F5D<EF<>4. 
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&5<4 2. %<EF5<4 ??4=V6 ?V4?D<T<EF64 
1. �?4E<DV>4FVO ??4=V6 ?V4?D<T<EF64 

%<EF5<4 ??4=V6 ?V4?D<T<EF64: 7<VEF, >E>5?<6>EFV, 674T<>76'O7><. �?4= O> 
4>>G<5=F, D57G?LF4F ??4=G64==O. $V7=>6<4< ??4=V6. &5E=V>>-5>>=><VG=5 = 
>?5D4F<6=5 ??4=G64==O, WE E?V?L=V D<E< F4 6V4<V==>EFV. 

%FD4F57VG=5 V ?>F>G=5 ??4=G64==O: EGFL, >E>5?<6>EFV, 674T<>76'O7>>, 
6V4<V==>EFV. �V4>5D465==O D54?L=<E G<>6, =4O6=<E ?N4EL><E V DV=4=E>6<E 
D5EGDEV6 G ?>F>G=<E ??4=4E. �57?5D5D6=VEFL ??4=G64==O. 

2. �<VEF V EFDG>FGD4 ?>F>G=>7> ??4=G 

�<VEF V EFDG>FGD4 ?>F>G=>7> ??4=G. �E=>6=V ED5D< 4VO?L=>EFV ?V4?D<T<EF64 V 
EFDG>FGD=4 ?>5G4>64 ?>F>G=>7> ??4=G. �E=>6=V D>74V?< ??4=G F4 ?>>47=<><, WE 
7474?L=4 E4D4>F5D<EF<>4. $G=>FVW ?>F>G=>7> ??4=G: >>>D4<=4FVO 4VO?L=>EFV 
?V4D>74V?V6, <>F<64FVO, G?D46?V==O 6<D>5=<FF6>< F>M>. 

�>=OFFO >>D>F>>EFD>>>6>7> F4 4>67>EFD>>>6>7> ?5DV>4V6 G 4VO?L=>EFV 
?V4?D<T<EF64, WE 6??<6 =4 7<VEF F4 E?>E>5< D>7D>5>< ??4=V6. 

3. �5F>4< ??4=G64==O 

�5F>4< F4 V=EFDG<5=F4DV= D>7D>5>< ??4=V6. �474?L=4 E4D4>F5D<EF<>4 
<5F>4<G=<E ?V4E>4V6 4> >5G<E?5=L ??4=>6<E ?>>47=<>V6. �<5VD 4?LF5D=4F<6=<E 
64DV4=FV6 ??4=V6. '77>465==O =4O6=<E D5EGDEV6 V ?>FD55< 6 =<E. �4DV4FVW D4>F>DV6 
6<D>5=<FF64 = >?F<<4?L=<= EF4= ?V4?D<T<EF64. 

4. �=D>D<4FV==4 5474 ??4=G64==O 

�=D>D<4FV==4 5474 ??4=G64==O. �=D>D<4FVO O> >E=>64 >5�DG=FG64==O 
??4=>6<E DVL5=L. �44V==VEFL V=D>D<4FVW, WW 6??<6 =4 F>G=VEFL ??4=G F4 EFG?V=L 
4>EO7=5==O ?>EF46?5=>W <5F<. �D74=V74FVO V=D>D<4FV==>7> ?D>F5EG: 
=4>>?<G5==O, >5D>5>4, ?5D544G4. �E>5?<6>EFV ?D<==OFFO DVL5=L 74 =5F>G=>W 
(=5?>6=>W) V=D>D<4FVW. �=D>D<4FV==V F5E=>?>7VW G ??4=G64==V. 

5. �D74=V74FVO ?D>F5EG ??4=G64==O 

�>DO4>> D>7D>5>< ??4=V6. �474?L=4 ?D>F54GD4 ??4=G64==O, WW 5F4?<. �>7V>4 
D>7D>5>< E<EF5<< 6=GFDVL=L>DVD<>6<E ??4=V6. 

�D74=V74FV==V D>D<< ??4=G64==O. $>7?>4V? ?>6=>6465=L 6 >D74=V74FVW., O>4 
??4=GT. $G=>FVW V EFDG>FGD4 ??4=>6>W >><4=4<. �E>5<EFV O>>EFV ??4=>6<>4. 

�D74=V74FV==4 >G?LFGD4 ??4=G64==O V 74E>5< 4?O WW ?V46<M5==O. 
 

&5<4 3. �?5D4F<6=>->4?5=44D=5 ??4=G64==O V >>=FD>?L 
1. �<VEF F4 <5F4 >?5D4F<6=>->4?5=44D=>7> ??4=G64==O 

�<VEF, <5F4 V 74644==O >?5D4F<6=>->4?5=44D=>7> ??4=G64==O V >>=FD>?N 
(����). %GFL ����, =>7> <5F4 V 74644==O. �6'O7>> >?5D4F<6=>->4?5=44D=>7> V 
F5E=V>>-5>>=><VG=>7> ??4=G64==O F4 >>=FD>?N. $>?L ���� G 74557?5G5==V 
D<F<VG=>7> 6<D>5=<FF64. 

2. �E=>6=V F5D<V=< V ?>=OFFO ���� 

�>=OFFO >59T<=>7> V >4?5=44D=>7> ??4=G64==O: 6<D>5=<G4 ?D>7D4<4 
?V4?D<T<EF64 V =>7> ?V4D>74V?V6, G77>465=VEFL 6<D>5=<G<E ?>FG6=>EF5=, 
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EFDG>FGD4 D>=4V6 D>5>G>7> G4EG V 7464=F465==O >5?44=4==O, 65?<G<=4 
=57465DL5=>7> 6<D>5=<FF64 F>M>. 

�E=>6=V F5D<V=< >?5D4F<6=>->4?5=44D=>7> ??4=G64==O V >>=FD>?N: 
FD<64?VEFL V EFDG>FGD4 6<D>5=<G>7> F<>?G, ??4=>6>->5?V>>6<= ?5DV>4, 
?5DV>4<G=VEFL 6<D>5=<FF64 74?56=> 6V4 65?<G<=< ?4DFVW 45F4?5=. $V7=>6<4< 
>4?5=44D=<E ??4=V6 (F<>?>7D4<4, ??4=-7D4DV>, EF4=44DF-??4= F>M>). 

3. �>D<4F<6< 6 ���� 

�4?5=44D=>-??4=>6V =>D<4F<6< 6 >?5D4F<6=><G ??4=G64==V V >>=FD>?V. 
%>?44 5?5<5=FV6, M> E4D4>F5D<7GNFL E<EF5<G ����. �?4=>6>->5?V>>6V V 
>>=FD>?L=>->5?V>>6V >4<=<FV, WE DV7=>6<4<. �4?5=44D=>-??4=>6V =>D<4F<6< 
(?5DV>4<G=VEFL V D>7<VD ?4DFVW 45F4?5=, FD<64?VEFL V EFDG>FGD4 6<D>5=<G>7> F<>?G, 
6<?5D5464==O M>4> 74?GE>G V 6<?GE>G). $>D<< 4>6545==O ??4=>6>7> 74644==O V 
?>44==O 76VFG ?D> =>7> 6<>>=4==O. 

4. %<EF5<< ���� =4 ?V4?D<T<EF6V 

�?4E<DV>4FVO E<EF5< ����. �474?L=4 E4D4>F5D<EF<>4, ?5D5647< V =54>?V>< 
?>45F4?L=<E, ?> >><??5>E=<E V ?>74<>6=<E E<EF5<, 4 F4>>6 WE=VE DV7=>6<4V6. 
�FV=>4 O>>EFV E<EF5< ����; 74?G7V WE D4FV>=4?L=>7> 74EF>EG64==O. 

 
&5<4 4. �4D>5F<=7>6V 4>E?V465==O, ??4=G64==O 75GFG V >>=FD>?N 

?D>4G>FVW 
1. �>=OFFO F4 D>?L <4D>5F<=7>6<E 4>E?V465=L G ??4=G64==V 

�<VEF F4 ?D<7=4G5==O <4D>5F<=7>6<E 4>E?V465=L. �>>=><VG=<= ??4= 
E?>6<64==O O> >E=>64 ??4=G64==O 75GFG ?D>4G>FVW L<D>>>7> 66<F>G. 
�E>5?<6>EFV ??4=G64==O 75GFG ?D>4G>FVW ?D><<E?>6>7> ?D<7=4G5==O. 

%<EF5<4 ?>>47=<>V6 <4D>5F<=7>6<E 4>E?V465=L, WE E4D4>F5D<EF<>4. 
2. �?4=G64==O 75GFG ?D>4G>FVW ?V4?D<T<EF64 

$>7D>5>4 ??4=G 75GFG V >>=FD>?N ?D>4G>FVW. �>DO4>> D>7D>5>< ??4=G V 
>>=FD>?N ?D>4G>FVW. �4DFVE=V ?>>47=<>< 75GFG, <5F>4<>4 WE >5G<E?5==O. 
�5G<E?5==O 6<FD4F =4 D54?V74FVN. $>7D4EG=>< G4EF>>6<E 75GF>6<E 6<FD4F 74 
<VEF5< WE 6<=<>=5==O. �5�DG=FG64==O DVL5=L ?D> EF<<G?N64==O (E5?5>FVN) F4 
>5<565==O (5?V<V=4FVN) 75GFG. 

3. �?4=G64==O D5>?4<=>W 4VO?L=>EFV 

�?4=G64==O D5>?4<<. �><G=V>4FV==4 ?>?VF<>4 G 74V=E=5==V ??4=V6 75GFG V 
>>=FD>?N ?D>4G>FVW. �5F>4< >5G<E?5==O 6<FD4F =4 D5>?4<G. �?4=G64==O V 
>>=FD>?L >5EO7V6 D>5VF V D>7?>4V? >>LFV6 D5>?4<=>7> 5N465FG. �5�DG=FG64==O 
6<5>DG D5>?4<=<< 74E>5V6. �E>5?<6>EFV ??4=G64==O V >>=FD>N D5>?4<=>W 
4VO?L=>EFV EF>E>6=> F>64DV6 L<D>>>7> 66<F>G V EF>E>6=> ?D><<E?>6<E F>64DV6. 

 
&5<4 5. �?4=G64==O 6<D>5=<FF64 ?D>4G>FVW 
1. �>=OFFO F4 EFDG>FGD4 6<D>5=<G>W ?D>7D4<< ?V4?D<T<EF64 

�<D>5=<G4 ?D>7D4<4 ?V4?D<T<EF64, WW 7<VEF F4 >E=>6=V 74644==O. �>=OFFO 
6<D>5=<G>W ?D>7D4<<, WW EFDG>FGD4. �E=>6=V 74644==O ??4=G V >>=FD>?N 
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6<D>5=<FF64 ?D>4G>FVW, 76'O7>> 7 V=L<<< D>74V?4<< ?>F>G=>7> ??4=G F4 
6<5D4=>N EFD4F57VTN. �>>47=<>< ??4=G V >>=FD>?N, WE DV7=>6<4<, 7<V=4 D>?V 
64DFVE=<E ?>>47=<>V6 G E<EF5<V ??4=G64==O F4 >>=FD>?N, >FV=>< 4VO?L=>EFV 
?V4?D<T<EF64 6 VEF>D<G=><G D4>GDEV D>76<F>G =4FV>=4?L=>W 5>>=><V><. 

2. $>D<G64==O ??4=G 6<D>5=<FF64 ?D>4G>FVW 

�E>5?<6>EFV D>7D>5>< 6<D>5=<G>W ?D>7D4<< O> 5F4?G EFD4F57VG=>7> F4 
4>67>EFD>>>6>7> ??4=G64==O V >>=FD>?N. �5D646=<= >>=FD4>F V 45D646=5 
74<>6?5==O, WE D>?L G D>D<G64==V 6<D>5=<G>W ?D>7D4<< ?V4?D<T<EF64. �>=OFFO 
=><5=>?4FGD< = 4E>DF<<5=FG ?D>4G>FVW. �5F>4<>4 D>7D4EG=>G F>64D=>W F4 
64?>6>W ?D>4G>FVW. �<7=4G5==O >?F<<4?L=<E D>7<VDV6 =57465DL5=>7> 
6<D>5=<FF64. 

3. �4?5=44D=<= D>7?>4V? 6<D>5=<G>W ?D>7D4<< 

�<<>7< 4> >4?5=44D=>7> D>7?>4V?G. �??<6 G7>4 V7 74<>6=<>4<< =4 
>?F<<4?L=VEFL D>7?>4V?G. %>>D>G5==O =><5=>?4FGD< 6<D>5V6, M> 
6<7>F>6?ONFLEO >4=>G4E=>, O> >E=>6=<= >D<F5DV= D4FV>=4?L=>EFV. �?F<<V74FVO 
6<D>5=<G>W ?D>7D4<<. 

 
&5<4 6. �4F5DV4?L=>-F5E=VG=5 74557?5G5==O 6<D>5=<FF64 
1. �?4=G64==O <4F5DV4?L=>-F5E=VG=>7> 74557?5G5==O 

�<VEF V >E=>6=V 74644==O ??4=G V >>=FD>?N. �D>7D4<=5 ??4=G64==O V 
E?5F<DV>4FVW O> >E=>64 4?O E>?444==O ??4=G V >>=FD>?N <4F5DV4?L=>-F5E=VG=>7> 
74557?5G5==O. �<D5D5=FV=>64=VEFL 6<D>5=<G>W ?D>7D4<< V EF4=44DF<74FVO 74 
?D<=F<?>< 47D57G64==O. �E=>6=V ?>>47=<>< ??4=G V >>=FD>?N, ?>DO4>> WE 
D>7D>5><. �5'T>F< =>D<G64==O. �6545=<= ??4= <4F5DV4?L=>-F5E=VG=>7> 
74557?5G5==O V <4F5DV4?L=<= 54?4=E: 7<VEF, EFDG>FGD4 V <5F>4<>4 D>7D4EG=>V6. 

2. �?4=G64==O ?>FD55< 6 E<D>6<=V V <4F5DV4?L=<E D5EGDE4E 

�?4=G64==O V >>=FD>?L ?>FD55< 6 E<D>6<=V V <4F5DV4?L=<E D5EGDE4E. 
�5F>4<>4 >5G<E?5==O ?>FD55< 6 D5EGDE4E. �E>5?<6>EFV 6<7=4G5==O >5EO7G 
?>FD55< M>4> >E=>6=<E <4F5DV4?V6, =4?V6D45D<>4FV6 V 4>?><V6=<E <4F5DV4?V6, O>V 
=>D<GNFLEO EF>E>6=> >>D5<<E 6<D>5V6. �?4=G64==O V >>=FD>?L ?>FD55< 6 
<4F5DV4?4E 4?O 4>?><V6=<E V >5E?G7>6GNG<E ?D>F5EV6. 

3. �>=OFFO F4 D57G?N64==O 74?4EV6 

�4?4E< V WE D57G?N64==O. �<4< 74?4EV6; <5F>4<>4 >5G<E?5==O D>7<VDV6 
EFD4E>6>7>, ?>F>G=>7>, ?V47>F>6G>7> F4 E57>==>7> 74?4EV6. %<EF5<4 <<4>E<<G<3 
<V=V<G<= G ??4=G64==V F4 D57G?N64==V 74?4EV6. %<EF5<4 "6G4E=>" (�&) V WW 
4>FV?L=VEFL. �D<E>>D5==O D54>FVW E<EF5<< 6<D>5=<FF64 =4 O>VE=V = >V?L>VE=V 
7<V=< D<=>>6>7> ?>?<FG. �<7=4G5==O >5EO7V6 74<>6?5=L V ??4=G64==O 7>6=VL=VE 
?5D56575=L. �5F>4<G=V ?V4E>4< 4> 6<7=4G5==O >?F<<4?L=>7> D>7<VDG ?4DFVW 
74>G?><. �<FD4F< =4 74>G?>G 74?56=> 6V4 65?<G<=< ?4DFVW. �55DV74==O D5EGDEV6 V 
>?F<<V74FVO 74<>6?5=L. �<5VD FD4=E?>DF=<E 74E>5V6 4?O 7>6=VL=VE ?5D56575=L, 
>>D<7G64==O >5EO7V6 74<>6?5=L 7 GD4EG64==O< 6<FD4F F4 F5D<V=V6 4>EF46><. 
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&5<4 7. �4557?5G5==O >?5D4FV==>W 4VO?L=>EFV 6<D>5=<G>N ?>FG6=VEFN 
1. �>=OFFO 6<D>5=<G>W ?>FG6=>EFV F4 D4>F>D< 6??<6G =4 =5W 

�<D>5=<G4 ?>FG6=VEFL ?V4?D<T<EF64 V D4>F>D<, M> WW 6<7=4G4NFL. �>=OFFO 
6<D>5=<G>W ?>FG6=>EFV. $V7=>6<4< 6<D>5=<G>W ?>FG6=>EFV 3 6EV4=4, 6<EV4=4, 
E5D54=L>DVG=4 3 <5F>4< WE >5G<E?5==O. �4?4=E 6<D>5=<G>W ?>FG6=>EFV. $4>F>D<, 
M> 6<7=4G4NFL 6<D>5=<GG ?>FG6=VEFL ?V4?D<T<EF64, >E>5?<6>EFV WE 6??<6G. 
�>>47=<>< 6<>>D<EF4==O 6<D>5=<G>W ?>FG6=>EFV. �>=OFFO: <6G7L>5 <VEF5=, 
<?D>6V4=4 ?4=>4=, <?D>?>DFV==VEFL=, <?D>?GE>=4 744F=VEFL >5?44=4==O=. 

2. �>DO4>> >5G<E?5==O 6<D>5=<G>W ?>FG6=>EFV 

�5F>4<>4 >5G<E?5==O 6<D>5=<G>W ?>FG6=>EFV. �<EV4=V 44=V, =5>5EV4=V 4?O 
6<7=4G5==O 6<D>5=<G>W ?>FG6=>EFV. $>7D4EG=>> 6<D>5=<G>W ?>FG6=>EFV 4?O G<>6 
>4=>=><5=>?4FGD=>7> <4E>6>7> 6<D>5=<FF64. �5F>4<>4 6<7=4G5==O 6<D>5=<G>W 
?>FG6=>EFV 4?O G<>6 5474F>=><5=>?4FGD=>7> >4<=<G=>7> 45> 4DV5=>E5DV==>7> 
6<D>5=<FF64. 

3. �<=4<V>4 6<D>5=<G>W ?>FG6=>EFV 

�<=4<V>4 6<D>5=<G>W ?>FG6=>EFV: DG=>FV>=4?L=<= 4E?5>F. �V<VF>64=V 
D4>F>D< 6<D>5=<FF64 F4 6<5VD <>6?<6<E 64DV4FV= ?>T4=4=L. �4<VM5=VEFL 
D4>F>DV6 F4 ?V>6V44FVO 4<E?D>?>DFV= 6<D>5=<G<E ?>FG6=>EF5= ?V4D>74V?V6 
?V4?D<T<EF64. �44F=VEFL 6<D>5=<G<E D4>F>DV6 4> D>7?>4V?G, WW 6??<6 =4 
??4=G64==O V >>=FD>?L D5EGDE=>7> 74557?5G5==O 6<D>5=<FF64. 

�<VEF>6=<= <>4G?L 2. �?4=G64==O V >>=FD>?L D>76<F>G ?V4?D<T<EF64 

&5<4 8. �5DE>=4? V >??4F4 ?D4FV 
1. �?4=G64==O G<E5?L=>EFV ?5DE>=4?G 
�>FD554 ?V4?D<T<EF64 G FDG4>6<E D5EGDE4E, >E=>6< WW ??4=G64==O. �E=>6=V 

?D>5?5<< ?V4?D<T<EF64, 769O74=V 7 D4>F>D>< <?D4FO=. �>5VD >44DV6. �?4=G64==O 
V >>=FD>?L D>=4G D>5>G>7> G4EG. �??4F4 ?D4FV. �E=>6=V ?>>47=<>< ??4=G, 
?>DO4>> =>7> D>7D>5><. �?4=G64==O V >>=FD>?L G<E5?L=>EFV V E>?44G ?D4FNNG<E. 
�E<<E?5==O ?>>47=<>V6 FDG4><VEF>>EFV D>5VF, 6<7=4G5==O =>D< V =>D<4F<6V6 
>5E?G7>6G64==O 6<D>5=<G>7> ?D>F5EG. �<7=4G5==O G<E5?L=>EFV D>5VF=<>V6 
>>D5<<E >4F57>DV=. 

2. �?4=G64==O ?D>4G>F<6=>EFV ?D4FV 

�?4=G64==O V >>=FD>?L ?D>4G>F<6=>EFV ?D4FV. �5G<E?5==O ?>>47=<>V6 
?D>4G>F<6=>EFV (6<D>5VF>G), WE <VEF5 6 >5�DG=FG64==V ?>FD55< 6 D>5VF=<>4E. 
�<7=4G5==O ?>FD55< 6 E?5FV4?VEF4E F4 <5=5465D4E. 

3. �E>5?<6>EFV >??4F< ?D4FV F4 <>F<64FVW ?5DE>=4?G ?V4?D<T<EF64 

�??4F4 ?D4FV. �>>47=<>< ??4=G, M> E4D4>F5D<7GNFL >??4FG ?D4FV: EG>G?=V 
F4 E5D54=V. �5F>4< >5G<E?5==O D>=4V6 >??4F< ?D4FV 4?O DV7=<E >4F57>DV= 
?D4FNNG<E 74 DV7=<E E<EF5< F4 D>D< >??4F< ?D4FV. �4F5DV4?L=5 EF<<G?N64==O 
?D4FV6=<>V6. %<EF5<4 ?D5<V= 74 D57G?LF4F< D>5>F<; 6<7=4G5==O D>7<VDG ?D5<V=. 
�5F>4< D>7?>4V?G ?D<5GF>G: G4EF>>64 GG4EFL G >4?VF4?V F4 FDG4>6<= 6=5E>>. 
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&5<4 9. �<D>5=<G4 V=DD4EFDG>FGD4 
1. �>=OFFO F4 ??4=G64==O 6<D>5=<G>W ?>FG6=>EFV 

�?4=G64==O V >>=FD>?L 74557?5G5==O ?V4?D<T<EF64 F5E=>?>7VG=>N 
>E=4EF>>N. �?4=G64==O ?>FD55< 6 V=EFDG<5=F4E G=V65DE4?L=>7> F4 E?5FV4?L=>7> 
?D<7=4G5==O. �<7=4G5==O ??4=>6<E D>7<VDV6 74?4EV6 V=EFDG<5=FV6. �5F>4<>4 
>5G<E?5==O >5>D>F=>7> D>=4G V=EFDG<5=FV6. 

2. $5<>=F=4 E?G654 ?V4?D<T<EF64 F4 ??4=G64==O WW 4VO?L=>EFV 

$5<>=F=5 >5E?G7>6G64==O 6<D>5=<FF64. �5F>4<>4 >5G<E?5==O D5<>=F=<E 
=>D<4F<6V6. �?4=G64==O D5<>=FG >5?44=4==O. �<7=4G5==O FDG4><VEF>>EFV 
D5<>=F=<E D>5VF V ?>FD55< 6 <4F5DV4?L=>-F5E=VG=<E D5EGDE4E, >5?44=4==V F4 
D>5VF=<>4E. %>?444==O 7D4DV>4 ??4=>6>-?D>DV?4>F<G=<E D>5VF. 

3. �?4=G64==O D>5>F< 5=5D75F<G=>7> 7>E?>44DEF64 ?V4?D<T<EF64 

�=5D7>>5E?G7>6G64==O ?V4?D<T<EF64. �>D<G64==O 5=5D7>E?>6<64==O. 
$>7D>5>4 ??4=>6<E 5=5D75F<G=<E 54?4=EV6. �<7=4G5==O ?>FD55< >E=>6=>7> F4 
4>?><V6=>7> 6<D>5=<FF64 6 5=5D7VW F4 ?4?<6V. $>7D>5>4 ??4=>6<E 7D4DV>V6 
=464=F465=L 6?4E=<E 465D5? 5=5D7>?>EF4G4==O. 

4. �>7VEF<G=4 V=DD4EFDG>FGD4 F4 WW ??4=G64==O 

&D4=E?>DF=5 >5E?G7>6G64==O 6<D>5=<FF64. �E=>6=V ?>>47=<>< 
FD4=E?>DF=>7> >5E?G7>6G64==O: 64=F46>>5>D>F, 64=F46>?>FV>. $>7D>5>4 EE5<< 
64=F46>?>F>>V6. �5G<E?5==O ?>FD55< 6 FD4=E?>DF=<E 74E>54E. 

 
&5<4 10. �<FD4F< 6<D>5=<FF64 
1. �?4=G64==O 6<FD4F 7>E?>44DEL>>W 4VO?L=>EFV 

�<VEF ??4=G V >>=FD>?N F4 ?>DO4>> WE D>7D>5><. �E=>6=5 ?D<7=4G5==O ??4=G 
V >>=FD>?N 6<FD4F 6<D>5=<FF64, =>7> 74644==O; 674T<>76'O7>> 7 V=L<<< ??4=4<< 
6 E<EF5<V 6=GFDVL=L>DVD<>6>7> ??4=G64==O. �>E?V4>6=VEFL D>7D>5>< <5E4=V7<G 
??4=G64==O V >>=FD>?N. �E=>6=V ?>>47=<>< ??4=G V >>=FD>?N, WE 7474?L=4 
E4D4>F5D<EF<>4 F4 674T<>7G<>6?5=VEFL. 

2. $>D<G64==O ??4=>6>W >4?L>G?OFVW 

�4?L>G?N64==O E>5V64DF>EFV ?D>4G>FVW. �?4=>64 >4?L>G?OFVO, WW 7<VEF W 
74644==O. �5F>4<>4 >4?L>G?N64==O E>5V64DF>EFV ?D>4G>FVW. �E>5?<6>EFV 
>4?L>G?N64==O 6 DV7=<E 74?G7OE 6<D>5=<FF64. �4?L>G?N64==O 74 <5F>4>< 
<?>>D<FFO 6<FD4F=. �5G<E?5==O E>5V64DF>EFV F>64D=>W ?D>4G>FVW. 

3. �?4=G64==O =5?DO<<E 6<FD4F 

�?4=G64==O V >>=FD>?L F4 D>7?>4V? =5?DO<<E 6<FD4F. �>LF>D<E< 6<FD4F =4 
5>E??G4F4FVN F4 >5E?G7>6G64==O GEF4F>G64==O, 7474?L=>6<D>5=<G<E F4 
7474?L=>7>E?>44DEL><E 6<FD4F, WE E>?44. �5F>4<>4 E>?444==O >>LF>D<EV6 
=5?DO<<E 6<FD4F. �5F>4< D>7?>4V?G =5?DO<<E 6<FD4F ?D< >4?L>G?N64==V, WE 
?>L<D5==O. �5>5EV4=VEFL GF>G=5==O 65?<G<=< =5?DO<<E 6<FD4F =4 >4<=<FN 
?D>4G>FVW, M> 6<?GE>4TFLEO. 

4. %>?444==O >>LF>D<EG 6<FD4F =4 6<D>5=<FF6> 

%>?444==O >>LF>D<EG 6<FD4F =4 6<D>5=<FF6>. %GFL >>LF>D<EG, =>7> 
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?D<7=4G5==O V EFDG>FGD4. �5F>4<>4 >E=>6=<E D>7D4EG=>V6 G >>LF>D<EV. 
�4FD<G=4 F45?<FO G77>465==O >>LF>D<EG 6<FD4F V E>5V64DF>EFV F>64D=>W 
?D>4G>FVW. '77>465==O 6<FD4F ?V4D>74V?V6 >E=>6=>7> F4 4>?><V6=>7> 
6<D>5=<FF64. �5G<E?5==O E>5V64DF>EFV 64?>6>W, F>64D=>W F4 D54?V7>64=>W 
?D>4G>FVW. �>>47=<>< ??4=G64==O V >>=FD>?N 7=<65==O E>5V64DF>EFV ?D>4G>FVW V 
ED5D4 WE 74EF>EG64==O. �5F>4<>4 >5G<E?5==O 7=<65==O 6<FD4F 6<D>5=<FF64 74 
DV7=<<< D4>F>D4<<. 

 
&5<4 11. $V=4=E>65 ??4=G64==O V >>=FD>?L =4 ?V4?D<T<EF6V 
1. �>=OFFO F4 7<VEF DV=4=E>6>7> ??4=G 

�<VEF V 74644==O DV=4=E>6>7> ??4=G V >>=FD>?N =4 ?V4?D<T<EF6V. $V=4=E>6<= 
??4= O> >4DF<=4 >GV>G64=>7> EF4=G ?V4?D<T<EF64. �E=>6=4 <5F4 V 74644==O 
DV=4=E>6>7> ??4=G V >>=FD>?N, WE EFDG>FGD4. �>DO4>> D>7D>5>< ??4=G. 

2. �?4=G64==O V >>=FD>?L ?>FD55< G DV=4=E>6<E 74E>54E. 

�<7=4G5==O ?>FD55< 6 >E=>6=<E F4 >5>D>F=<E >>LF4E, >5�DG=FG64==O 
6<5>DG D>D<< E>>D>G5==O ?>FD55< G >4?VF4?V (?V7<=7, D4>F>D<=7 F>M>). 
�?4=G64==O V >>=FD>?L ?>FD55< 6 >D54<F=<E D5EGDE4E, 74557?5G5==O ?V>6V4=>EFV 
F4 ??4F>E?D><>6=>EFV ?V4?D<T<EF64. 

3. �?4=G64==O V >>=FD>?L ?D<5GF>>6>EFV ?V4?D<T<EF64 

�4E<6=4 = 4>F<6=4 EF44VW E>?444==O ??4=G 7 ?D<5GF>G, WE 7<VEF, 6V4<V==>EFV. 
�D<5GF>> 6V4 D54?V74FVW ?D>4G>FVW V 54?4=E>6<= ?D<5GF>>, <5F>4<>4 WE 
D>7D4EG=>G. $>7?>4V? >FD<<4=>7> ?D<5GF>G. �5F>4< >?F<<V74FVW 7D>L>6<E 
?>F>>V6 ?V4?D<T<EF64. �>>47=<>< ?D<5GF>>6>EFV, <5F>4<>4 WE >5G<E?5==O. �> 
D4>F>D=V D>7D4EG=>< 7<V=< D5=F455?L=>EFV 6<D>5=<FF64. 

4. �?4=>6<= 54?4=E ?V4?D<T<EF64 

�4?4=E ?V4?D<T<EF64, =>7> EFDG>FGD4. �?4=>6<= 54?4=E ?V4?D<T<EF64, =>7> 
>E=>6=5 ?D<7=4G5==O. �>F<6< F4 ?4E<6< 54?4=EG. %4D4>F5D<EF<>4 WE E>?44>6<E. 
�5G<E?5==O >E=>6=<E ?>>47=<>V6 54?4=EG. �FV=>4 DV=4=E>6>7> EF4=G 
?V4?D<T<EF64 =4 >E=>6V 54?4=EG 4>E>4V6 V 6<44F>V6. �D>F5=F=<= F4 6V4=>E=<= 
<5F>4< >5D>5>< 54?4=EG. 

 
&5<4 12. �?4=G64==O V >>=FD>?L >=>6?5==O ?D>4G>FVW 
1. �?4=G64==O >=>6?5==O ?D>4G>FVW ?V4?D<T<EF64 

$>D<G64==O ??4=G V >>=FD>?N >=>6?5==O ?D>4G>FVW, WE E>?44 V 74644==O. 
�474?L=4 E4D4>F5D<EF<>4 ??4=>6<E V >>=FD>?L=<E D>5VF G E<EF5<V EF6>D5==O, 
?V47>F>6>< 6<D>5=<FF64 V >E6>T==O =>6>W ?D>4G>FVW. �4644==O D>7D>5>< ??4=G V 
>>=FD>?N. �>D<4F<6=4 5474 ??4=G64==O. �><??5>E >E=>6=<E ??4=>6<E 
>5G<E?5=L: FDG4><VEF>VEFL D>5VF. �E FD<64?VEFL V 64DFVEFL. �>7VG=4 F4 
DG=>FV>=4?L=4 ?>E?V4>6=VEFL F5D<V=V6 V 64DF>EFV D>5VF. 

2. �5�DG=FG64==O 4>FV?L=>EFV >=>6?5==O ?D>4G>FVW 

�?F<<V74FV==V ??4=>6V D>7D4EG=><. �>>=><VG=4 5D5>F<6=VEFL >E6>T==O 
=>6>W ?D>4G>FVW: <5F>4<G=V ?V4E>4<, ?>DO4>> >5�DG=FG64==O. �<5VD 
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>?F<<4?L=>7> 64DV4=F4 F5E=>?>7VG=>7> ?D>F5EG. �5F>4<G=V >E=>6< >5G<E?5==O 
F5E=>?>7VG=>W E>5V64DF>EFV. �D<F<G=4 ?D>7D4<4. 

3. �?4=G64==O 6<FD4F =4 >E6>T==O =>6>7> 6<D>5=<FF64 

�?4=G64==O V >>=FD>?L 6<FD4F =4 ?V47>F>6>G F4 >E6>T==O 6<D>5=<FF64. 
�E>5?<6>EFV ??4=G64==O V >>=FD>?N 6<FD4F =4 =4G>>6>-4>E?V4=V D>5>F<. 
�4>>=><VD=>EFV 7=<65==O FDG4><VEF>>EFV E>?44=<E 6<D>5V6 V >V?L>VE=V 7=4G5==O 
F<E ?4D4<5FDV6 4?O 6<D>5V6 DV7=<E 74?G75= 6<D>5=<FF64. 

%>?444==O >>LF>D<EG 6<FD4F F4 >>LF>D<E=>W >4?L>G?OFVW. 
�<>6VD=VE=V <5F>4< ??4=G64==O V >>=FD>?N ?V47>F>6>< 6<D>5=<FF64 F4 

>E6>T==O =>6<E 6<D>5V6. �>=OFFO EVFL>6<E <5F>4V6 V <>45?5=, WE F5D<V=>?>7VO. 
 

&5<4 13. �D74=V74FV==>-F5E=VG=<= D>76<F>> 
1. �>=OFFO >D74=V74FV==>-F5E=VG=>7> D>76<F>G 

�4644==O V 7<VEF ??4=G >D74=V74FV==>7> V F5E=VG=>7> D>76<F>G. %<EF5<4 
?>>47=<>V6 F5E=VG=>7> = >D74=V74FV==>7> D>76<F>G, <5F>4<>4 WE D>7D4EG=>G. 
�>DO4>> D>7D>5>< ??4=G. 

�5G<E?5==O ?D<D>EFG ?D<5GF>G (5>>=><VW) 6V4 6?D>64465==O V==>64FV==<E 
74E>4V6. �5�DG=FG64==O =4?DO<>V6 D>76<F>G; 674T<>76'O7>< 6 E<EF5<V 
6=GFDVL=L>DVD<>6>7> ??4=G64==O V >>=FD>?N. 

2. �?4=G64==O V=65EF<FV==>W 4VO?L=>EFV 

�?4=G64==O V >>=FD>?L V=65EF<FV=. �<7=4G5==O ?D<5GF>>6>EFV >5'T>FV6 
V=65EFG64==O. �5F>4<G=V ?V4E>4<: >5G<E?5==O 4<E>>=F>64=>W 64DF>EFV >4?VF4?G, 
6=GFDVL=L>W ?D>F5=F=>W EF46><, 4=GWF5FV6. �<=4<VG=5 >5G<E?5==O V=65EF<FV= F4 
=>6V 6<D>5=<GV F5E=>?>7VW. �D<F5DVW 6<5>DG V=65EF<FV=. �<5VD 74 G<>6< 
6<7=4G5=>EFV. �D<5GF>>6VEFL <4=5GF=VE V=65EF<FV=. �<5VD 74 G<>6< 
=56<7=4G5=>EFV. $<7<> V=65EF<FV=. $V=4=EG64==O 74 4>?><>7>N ?>7<G>>6>7> 
>4?VF4?G. �D54<F=5 DV=4=EG64==O D>76<F>G ?V4?D<T<EF64, =>7> EGFL. �VO 
DV=4=E>6>7> 6465?O (<?V65DV46-5D5>F=); ?5D5647< V 747D>7< 4?O ?V4?D<T<EF64- 
>D54<F>D4. 

 
&5<4 14. �V7=5E-??4=G64==O 
1. �>=OFFO F4 EFDG>FGD4 5V7=5E-??4=G 

�V7=5E-??4=, =>7> ?D<7=4G5==O V 7<VEF. �E>5?<6>EFV 5>>=><VG=>7> 
>5�DG=FG64==O DVL5=L, M> ?D<=<4NFLEO 6 ?D>F5EV EF6>D5==O =>6>7> 
?V4?D<T<EF64. �E=>6=V 6<<>7< 4> 7<VEFG, EFDG>FGD< F4 ?>DO4>G D>7D>5>< 5V7=5E- 
??4=V6. �474?L=4 E4D4>F5D<EF<>4 >E=>6=<E D>74V?V6 5V7=5E-??4=G. �5�DG=FG64==O 
4>FV?L=>EFV 6<?GE>G =>6>W ?D>4G>FVW. %4D4>F5D<EF<>4 >E=>6=<E O>>EF5= 
?D>4G>FVW, WW ?5D5647 ?5D54 VE=GNG<<<. 

2. �E>5?<6>EFV E>?444==O >>D5<<E D>74V?V6 5V7=5E-??4=G 

�?4=G64==O V >>=FD>?L >DVT=F>64=<E 6<FD4F, FV=< F4 >5EO7G ?D>446G 
?D>4G>FVW. �?4= <4D>5F<=7G: D>7?>6EN465==O ?D>4G>FVW, D5>?4<< V ?>DO4>> 
FV=>GF6>D5==O. 
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�?4=G64==O V >>=FD>?L 6<D>5=<FF64 ?D>4G>FVW. �5�DG=FG64==O 
6<D>5=<FF64 D>7D4EG=>4<< 6<D>5=<G>W ?>FG6=>EFV, <4F5DV4?L=<<< D5EGDE4<<. 
�?4=G64==O V >>=FD>?L 6<FD4F =4 6<D>5=<FF6> ?D>4G>FVW, WE 4<=4<V>< 6 ?5DV>4 
>E6>T==O. �?4=G64==O V >>=FD>?L 4>5>DG >44DV6, >??4F4 WE=L>W ?D4FV. 

�?4=G64==O V >>=FD>?L DV=4=EV6 =>6>7> ?V4?D<T<EF64. �5F>4<>4 ??4=G64==O 
V >>=FD>?N 4>EO7=5==O 55775<F>>6>EFV 6<D>5=<FF64. �?4= D54?V74FVW ?D>4G>FVW. 
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4. %FDG>FGD4 (F5<4F<G=<= ??4=) =46G4?L=>W 4<EF<??V=< 
 

 
 

 
�<VEF>6V <>4G?V V F5<< 

�V?L>VEFL 7>4<= 

45==4 D>D<4 74>G=4 D>D<4 

GE
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VW
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<
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�>4G?L 1 

�<VEF>6<= <>4G?L 1. &5>D5F<>>-<5F>4<G=V 74E44< ??4=G64==O V >>=FD>?N =4 ?V4?D<T<EF6V 

&5<4 1. %GF=VEFL ??4=G64==O F4 >E>5?<6>EFV =>7> 
74V=E=5==O =4 ?V4?D<T<EF6V 15 2 4 9 15 1 - 14 

&5<4 2. %<EF5<4 ??4=V6 ?V4?D<T<EF64 15 2 4 9 15 - 1 14 

&5<4 3. �?5D4F<6=>->4?5=44D=5 ??4=G64==O V 
>>=FD>?L 15 2 4 9 15 1 - 14 

&5<4 4. �4D>5F<=7>6V 4>E?V465==O, ??4=G64==O 
75GFG V >>=FD>?N ?D>4G>FVW 15 4 8 3 15 - 1 14 

&5<4 5. �?4=G64==O 6<D>5=<FF64 ?D>4G>FVW 10 2 4 4 10 1 - 9 

&5<4 6. �4F5DV4?L=>-F5E=VG=5 74557?5G5==O 
6<D>5=<FF64 10 2 4 4 10 - 1 9 

&5<4 7. �4557?5G5==O >?5D4FV==>W 4VO?L=>EFV 
6<D>5=<G>N ?>FG6=VEFN 10 2 4 4 10 - - 10 

$47>< 74 7<VEF>6<= <>4G?L 1 90 16 32 42 90 3 3 84 

�<VEF>6<= <>4G?L 2. �?4=G64==O V >>=FD>?L D>76<F>G ?V4?D<T<EF64 

&5<4 8. �5DE>=4? V >??4F4 ?D4FV 15 2 4 9 15 1 - 14 

&5<4 9. �<D>5=<G4 V=DD4EFDG>FGD4 15 2 4 9 15 - 1 14 

&5<4 10. �<FD4F< 6<D>5=<FF64 15 2 4 9 15 1 - 14 

&5<4 11. $V=4=E>65 ??4=G64==O V >>=FD>?L =4 
?V4?D<T<EF6V 15 4 8 3 15 - 1 14 

&5<4 12. �?4=G64==O V >>=FD>?L >=>6?5==O 
?D>4G>FVW 10 2 4 4 10 1 - 9 

&5<4 13. �D74=V74FV==>-F5E=VG=<= D>76<F>> 10 2 4 4 10  1 9 

&5<4 14. �V7=5E-??4=G64==O 10 2 4 4 10 - - 10 

$47>< 74 7<VEF>6<= <>4G?L 2 90 16 32 42 90 3 3 84 

�%,��� 180 32 64 84 180 6 6 168 
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5. &5<< ?D4>F<G=<E (?45>D4F>D=<E) 74=OFL 
 

7 
7/? 

 
�4764 F5<< 

�V?L>VEFL 7>4<= 

45==4 
D>D<4 

74>G=4 
D>D<4 

 

 
1 

&5<4 1. %GF=VEFL ??4=G64==O F4 >E>5?<6>EFV =>7> 74V=E=5==O =4 
?V4?D<T<EF6V 
1. �>=OFFO F4 D>?L ??4=G64==O G 7>E?>44DEL>V= 4VO?L=>EFV 
?V4?D<T<EF64 
2. �>=F5?FVW ??4=G64==O 
3. �5F>4>?>7VO ??4=G64==O 

4 

 

- 

 

 
2 

&5<4 2. %<EF5<4 ??4=V6 ?V4?D<T<EF64 
1. �?4E<DV>4FVO ??4=V6 ?V4?D<T<EF64 
2. �<VEF V EFDG>FGD4 ?>F>G=>7> ??4=G 
3. �5F>4< ??4=G64==O 
4. �=D>D<4FV==4 5474 ??4=G64==O 
5. �D74=V74FVO ?D>F5EG ??4=G64==O 

4 

 
 

1 

 
 

3 

&5<4 3. �?5D4F<6=>->4?5=44D=5 ??4=G64==O V >>=FD>?L 
1. �<VEF F4 <5F4 >?5D4F<6=>->4?5=44D=>7> ??4=G64==O 
2. �E=>6=V F5D<V=< V ?>=OFFO ���� 
3. �>D<4F<6< 6 ���� 
4. %<EF5<< ���� =4 ?V4?D<T<EF6V 

4 

 

- 

 
 

4 

&5<4 4. �4D>5F<=7>6V 4>E?V465==O, ??4=G64==O 75GFG V >>=FD>?N 
?D>4G>FVW 
1. �>=OFFO F4 D>?L <4D>5F<=7>6<E 4>E?V465=L G ??4=G64==V 
2. �?4=G64==O 75GFG ?D>4G>FVW ?V4?D<T<EF64 
3. �?4=G64==O D5>?4<=>W 4VO?L=>EFV 

8 

 

1 

 
5 

&5<4 5. �?4=G64==O 6<D>5=<FF64 ?D>4G>FVW 
1. �>=OFFO F4 EFDG>FGD4 6<D>5=<G>W ?D>7D4<< ?V4?D<T<EF64 
2. $>D<G64==O ??4=G 6<D>5=<FF64 ?D>4G>FVW 
3. �4?5=44D=<= D>7?>4V? 6<D>5=<G>W ?D>7D4<< 

4 

 
- 

 
6 

&5<4 6. �4F5DV4?L=>-F5E=VG=5 74557?5G5==O 6<D>5=<FF64 
1. �?4=G64==O <4F5DV4?L=>-F5E=VG=>7> 74557?5G5==O 
2. �?4=G64==O ?>FD55< 6 E<D>6<=V V <4F5DV4?L=<E D5EGDE4E 
3. �>=OFFO F4 D57G?N64==O 74?4EV6 

4 
 

1 

 
 

7 

&5<4 7. �4557?5G5==O >?5D4FV==>W 4VO?L=>EFV 6<D>5=<G>N 
?>FG6=VEFN 
1. �>=OFFO 6<D>5=<G>W ?>FG6=>EFV F4 D4>F>D< 6??<6G =4 =5W 
2. �>DO4>> >5G<E?5==O 6<D>5=<G>W ?>FG6=>EFV 
3. �<=4<V>4 6<D>5=<G>W ?>FG6=>EFV 

4 

 

- 

 
8 

&5<4 8. �5DE>=4? V >??4F4 ?D4FV 
1. �?4=G64==O G<E5?L=>EFV ?5DE>=4?G 
2. �?4=G64==O ?D>4G>F<6=>EFV ?D4FV 
3. �E>5?<6>EFV >??4F< ?D4FV F4 <>F<64FVW ?5DE>=4?G ?V4?D<T<EF64 

4 

 
- 

 
9 

&5<4 9. �<D>5=<G4 V=DD4EFDG>FGD4 
1. �>=OFFO F4 ??4=G64==O 6<D>5=<G>W ?>FG6=>EFV 
2. $5<>=F=4 E?G654 ?V4?D<T<EF64 F4 ??4=G64==O WW 4VO?L=>EFV 
3. �?4=G64==O D>5>F< 5=5D75F<G=>7> 7>E?>44DEF64 ?V4?D<T<EF64 

4 

 
1 
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 4. �>7VEF<G=4 V=DD4EFDG>FGD4 F4 WW ??4=G64==O   

 
 

10 

&5<4 10. �<FD4F< 6<D>5=<FF64 
1. �?4=G64==O 6<FD4F 7>E?>44DEL>>W 4VO?L=>EFV 
2. $>D<G64==O ??4=>6>W >4?L>G?OFVW 
3. �?4=G64==O =5?DO<<E 6<FD4F 
4. %>?444==O >>LF>D<EG 6<FD4F =4 6<D>5=<FF6> 

4 

 

- 

 
 

11 

&5<4 11. $V=4=E>65 ??4=G64==O V >>=FD>?L =4 ?V4?D<T<EF6V 
1. �>=OFFO F4 7<VEF DV=4=E>6>7> ??4=G 
2. �?4=G64==O V >>=FD>?L ?>FD55< G DV=4=E>6<E 74E>54E. 
3. �?4=G64==O V >>=FD>?L ?D<5GF>>6>EFV ?V4?D<T<EF64 
4. �?4=>6<= 54?4=E ?V4?D<T<EF64 

8 

1 

 
12 

&5<4 12. �?4=G64==O V >>=FD>?L >=>6?5==O ?D>4G>FVW 
1. �?4=G64==O >=>6?5==O ?D>4G>FVW ?V4?D<T<EF64 
2. �5�DG=FG64==O 4>FV?L=>EFV >=>6?5==O ?D>4G>FVW 
3. �?4=G64==O 6<FD4F =4 >E6>T==O =>6>7> 6<D>5=<FF64 

4 

 
- 

 
13 

&5<4 13. �D74=V74FV==>-F5E=VG=<= D>76<F>> 
1. �>=OFFO >D74=V74FV==>-F5E=VG=>7> D>76<F>G 
2. �?4=G64==O V=65EF<FV==>W 4VO?L=>EFV 

4 
1 

 
14 

&5<4 14. �V7=5E-??4=G64==O 
1. �>=OFFO F4 EFDG>FGD4 5V7=5E-??4=G 
2. �E>5?<6>EFV E>?444==O >>D5<<E D>74V?V6 5V7=5E-??4=G 

4 
- 

$���� 64 6 
 

6. �4644==O 4?O E4<>EFV==>W D>5>F< 
 

�<F4==O 4?O E4<>EFV==>7> >?D4FN64==O EFG45=F4<< 
 

&5<4 1. %GF=VEFL ??4=G64==O F4 >E>5?<6>EFV =>7> 74V=E=5==O =4 
?V4?D<T<EF6V 

1. �?4=G64==O 3 =4G>4 G< D>D<4 D54?V74FVW ?>?VF<><? 
2. �6>?NFVO ??4=G64==O F4 WW 6V4>5D465==O G EL>7>4=VL=V= ?D4>F<FV. 
3. �=D>D<4FV==5 EGE?V?LEF6> V 7<V=4 ?4D44<7<< ??4=>?>7VW. 
4. �=>D5<5=F4?L=5 ??4=G64==O EL>7>4=V 3 «=>64 E6<?O» 

 
&5<4 2. %<EF5<4 ??4=V6 ?V4?D<T<EF64 
1. $5V=6<=VD<=7 5V7=5E-?D>F5EV6 V E<EF5<4 ??4=G64==O =4 ?V4?D<T<EF6V. 
2. �44F=VEFL 4> F6>DG>EFV O> E4D4>F5D<EF<>4 EGG4E=>7> ??4=>6<>4. 
3. �56<7=4G5=VEFL 74644=L ??4=>6<>4 =4 ?V4?D<T<EF6V: ?D<G<=< 6<=<>- 

=5==O V L?OE< 7<5=L5==O. 
4. �74T<>74?56=VEFL >G?LFGD< 6545==O 5V7=5EG V >G?LFGD< ??4=>6>W D>5>-F<. 

 
&5<4 3. �?5D4F<6=>->4?5=44D=5 ??4=G64==O V >>=FD>?L 
1. �?5D4F<6=>->4?5=44D=5 ??4=G64==O, =>7> 7=4G5==O 6 >D74=V74FVW 

6<D>5=<FF64 ?D>4G>FVW ?V4?D<T<EF64 6 D<=>>6<E G<>64E 
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2. $<F<VG=VEFL 6<D>5=<FF64. �5F>4< >FV=>< DV6=O D<F<VG=>EFV 6<D>5=<FF64 
=4 ?V4?D<T<EF6V. 

3. �E>5?<6>EFV >?5D4F<6=>->4?5=44D=>7> ??4=G64==O 6 >4<=<G=><G 6<D>- 
5=<FF6V. 

 
&5<4 4. �4D>5F<=7>6V 4>E?V465==O, ??4=G64==O 75GFG V >>=FD>?N 

?D>4G>FVW 
1. �?4=G64==O 75GFG ?D>4G>FVW 6 G<>64E ?>EFV==>W 7<V=< D<=>>6>7> 

E5D54>6<M4. 
2. $5>?4<4, WW 7=4G5==O G 75V?LL5==V 75GFG ?D>4G>FVW, 6<4< D5>?4<. 
3. /> ??4=GTFLEO D5>?4<=4 4VO?L=VEFL ?V4?D<T<EF64? 

 
&5<4 5. �?4=G64==O 6<D>5=<FF64 ?D>4G>FVW 
1. �<D>5=<G4 ?D>7D4<4 ?V4?D<T<EF64, WW 7<VEF V EFDG>FGD4. 
2. �?4=G64==O >5EO7V6 6<D>5=<FF64 ?D>4G>FVW G 64DFVE=><G 6<D465==V. 

&>64D=4 ?D>4G>FVO, E4D4>F5D<EF<>4, E>?44, D>7D4EG=><. 
3. �4?>64 ?D>4G>FVO, E4D4>F5D<EF<>4, ??4=G64==O 74?<L>V6 =5-7465DL5=>7> 

6<D>5=<FF64. 
4. $54?V7>64=4 V G<EF4 ?D>4G>FVO, E4D4>F5D<EF<>4 V 6<7=4G5==O 6 ?D>F5EV 

??4=G64==O. 
5. �?F<<V74FVO 6<D>5=<G>W ?D>7D4<< ?V4?D<T<EF64 

 
&5<4 6. �4F5DV4?L=>-F5E=VG=5 74557?5G5==O 6<D>5=<FF64 
1. />V VE=GNFL 465D5?4 �&� G D<=>>6<E G<>64E? 
2. />V <5F>4< D>7D4EG=>G ?>FD55< 6 �&$ 74EF>E>6GNFLEO 6 DV7=<E 74?G7OE 

6<D>5=<FF64? 
3. /> D57G?NNFL DV65=L 74?4EV6 �&$ G F5E4E? 
4. />V <5F>4< 74557?5G5==O F5EV6 <4F5DV4?L=<<< D5EGDE4<< 74EF>E>6GNFLEO 

=4 ?V4?D<T<EF64E? 
 

&5<4 7. �4557?5G5==O >?5D4FV==>W 4VO?L=>EFV 6<D>5=<G>N ?>FG6=VEFN 
1. /> ?D>6>4<FLEO >5�DG=FG64==O 6<D>5=<G>W ?D>7D4<< ?>FG6=VEFN 

?V4?D<T<EF64? 
2. />V ?>>47=<>< E4D4>F5D<7GNFL 6<>>D<EF4==O 6<D>5=<G>W ?>FG6=>EFV, 

<5F>4<>4 WE=L>7> >5G<E?5==O? 
3. �E4D4>F5D<7G=F5 >E=>6=V D4>F>D< 6<D>5=<FF64 F4 WE=N 74<V==VEFL. 

 
&5<4 8. �5DE>=4? V >??4F4 ?D4FV 
1. />V <5F>4<G=V ?V4E>4< FD554 6<>>D<EF>6G64F< ?D< 6<7=4G5==V <VD< 

E>>D>G5==O 6FD4F G4EG ?D< 6<7=4G5==V ??4=>6>7> 54?4=EG D>5>G>7> G4EG >4=>7> 
D>5VF=<>4? 
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2. /> FD554 6D4E>6G64F< 6??<6 =4 ??4=>6G G<E5?L=VEFL EFG?5=O 
5474F>65DEF4F=>7> >5E?G7>6G64==O, EG<VM5==O ?D>D5EV=, D>7L<D5==O 7>= 
>5E?G7>6G64==O? 

3. />V FD554 665EF< GF>G=5==O 6 <5F>4<>G D>7D4EG=>G ??4=>6>7> D>=4G 
>??4F< ?D4FV6=<>V6, D>5>F4 O><E >??4GGTFLEO ?> <VEOG=<E >>?444E? 

 
&5<4 9. �<D>5=<G4 V=DD4EFDG>FGD4 
1. /> 6??<64T >>>?5D4FVO F4 E?5FV4?V74FVO =4 >5EO7< D>5VF 7 6<7>F>6?5==O 

V=EFDG<5=FV6 F4 EFDG>FGDG V=EFDG<5=F4?L=<E F5EV6? 
2. -> 6??<64T =4 D>7<VD< 74?4EV6 F4 >5>D>F=>7> D>=4G V=EFDG<5=FV6? 
3. '><G =4 ?V4?D<T<EF64E D5<>=F=>-<5E4=VG=V F5E< 4>EO74NFL 7=4G=<E 

D>7<VDV6? 
4. �4 D4EG=>> G>7> <>6=4 E>>D>F<F< >5EO7< D5<>=F=<E D>5VF? 
5. />V E<EF5<< F4 D>D<< >??4F< ?D4FV 4>FV?L=> 74EF>E>6G64F< 4?O 

D>5VF=<>V6 ?> D5<>=F=><G >5E?G7>6G64==N GEF4F>G64==O? 
 

&5<4 10. �<FD4F< 6<D>5=<FF64 
1. 1. '< <>65 ?V4?D<T<5FL 6<?GE>4F< ?D>4G>FVN 557 ??4=G ?> E>5V64DF>EFV 

F4 G><G? 
2. $>?L ??4=G E>5V64DF>EFV ?D>4G>FVW 6 E<EF5<V 6=GFDVL=L>DVD<>6>7> 

??4=G64==O, =>7> 76'O7>> V7 V=L<<< ??4=4<<. 
3. �4?L>G?N64==O ?D>4G>FVW 6 DV7=<E F<?4E 6<D>5=<FF64. 
4. �5F>4<>4 ??4=G64==O E>5V64DF>EFV 7>F>6>W F4 D54?V7>64=>W ?D>4G>FVW. 
5. /> ??4=G64F< 6<FD4F< =4 D5<>=F GEF4F>G64==O? 

 
&5<4 11. $V=4=E>65 ??4=G64==O V >>=FD>?L =4 ?V4?D<T<EF6V 
1. '4>E>>=4?5==O G?D46?V==O DV=4=E>6<<< D5EGDE4<< =4 ?V4?D<T<EF6V. 
2. �FV=>4 DV=4=E>6>7> EF4=G ?V4?D<T<EF64 F4 EFD4F57VO =>7> ?>>D4M4==O. 

 
&5<4 12. �?4=G64==O V >>=FD>?L >=>6?5==O ?D>4G>FVW 
1. $V=4=E>65 >5�DG=FG64==O DVL5=L M>4> >=>6?5==O ?D>4G>FVW. 
2. �5F>4< >FV=>< F4 6<5VD ?D>5>FV6 >=>6?5==O ?D>4G>FVW =4 ?V4?D<T<EF6V. 
3. %FD4F57VO >=>6?5==O ?D>4G>FVW, WW 7=4G5==O F4 <VEF5 6 

7474?L=>>>D?>D4F<6=V= EFD4F57VW ?V4?D<T<EF64. 
4. �>E?V465==O D4>F>DV6, M> 6<7=4G4NFL V==>64FV==G 45> >>=E5D64F<6=G 

>DVT=F4FVN ?V4?D<T<EF64. 
5. %FD4F57VO 75GFG F4 ?D>EG64==O =>6>W ?D>4G>FVW =4 D<=>G. 
6. �FV=>4 ?D>F5EG E?D<==OFFO D<=>>< =>6>W ?D>4G>FVW. 
7. �FV=>4 <>6?<6>EF5= 746>N64==O F4 D>7L<D5==O D<=>V6 75GFG =>6>W 

?D>4G>FVW. 
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&5<4 13. �D74=V74FV==>-F5E=VG=<= D>76<F>> 
1. &5E=V>>-5>>=><VG=<= DV65=L 6<D>5=<FF64, =>7> >E=>6=V 5?5<5=F< F4 

EFDG>FGD4. 
2. �E=>6=V D4>F>D< F5E=VG=>7> F4 >D74=V74FV==>7> DV6=O D>76<F>G 

?V4?D<T<EF64. 
3. �D>F54GD4 E>?444==O ??4=V6 F5E=VG=>7> F4 >D74=V74FV==>7> D>76<F>G 

?V4?D<T<EF64, WE=V >E=>6=V E>?44>6V. 
4. �5F>4<>4 >FV=>< 5D5>F<6=>EFV >D74=V74FV==>-F5E=VG=<E 74E>4V6 =4 

?V4?D<T<EF6V. 
 

&5<4 14. �V7=5E-??4=G64==O 
1. /> >5�DG=F>6GTFLEO <4=5GF=V= >5EO7 ?D>446V6 V7 GD4EG64==O< 

5?4EF<G=>EFV ?>?<FG =4 ?D>4G>FVN? 
2. />>N T <5F>4<G=4 >E=>64 ??4=G64==O >5EO7G 6<D>5=<FF64 ?D>4G>FVW? /> 

>5�DG=F>6GTFLEO =5>5EV4=5 D5EGDE=5 74557?5G5==O? 
3. /> D>D<GTFLEO DV=4=E>6<= ??4= V 6D4E>6GNFLEO D<7<>< G 5V7=5EV? 

 
 

7. �=4<6V4G4?L=V 74644==O 
 

&5E=V>>-5>>=><VG=5 >5�DG=FG64==O 7>E?>44DEL>>W 4VO?L=>EFV ?V4?D<T<EF64 
(74 64DV4=F4<<) 

&45?<FO 1 �59T>F< ?V4?D<T<=<FL>>W 4VO?L=>EFV 
�4=<5=G64==O �4DV4=F 

0 1 2 3 4 5 6 7 8 9 
�59T< 5G4V6?V 11400 8800 8000 11000 10800 8300 10400 12600 1170 10200 
�><5=>?4FGD4 

6<D>5V6 
�,�,�,� �,�,�,� �,�,�,� �,�,�,� �,�,�,� �,�,�,� �,�,�,� �,�,�,� �,�,�,� �,�,�,� 

 
&45?<FO 2 %4D4>F5D<EF<>4 EF4=>G=>7> ?4D>G ?V4?D<T<EF64 

 �V4E>F>> 
6<>>=4==O 
??4=G, % 

�>FG6=VEFL 
5?5>FD>46<7G=V6, 

>�F 

&V=4 
65DEF4FG, 

7D=. 

�V?L>VEFL >4<=<FL >5?44=4==O ?> 64DV4=F4E 
0 1 2 3 4 5 6 7 8 9 

&>64D=<= 105 2,7 15000 22 21 13 14 14 12 22 23 18 19 
$D575DG- 
64?L=<= 

107 2,5 29000 12 14 18 16 18 20 11 12 10 11 

%65D4?G- 
64?L=<= 

110 0,4 16000 9 10 9 11 6 8 12 11 14 12 

,?VDG64- 
?L=<= 

102 3,5 17000 21 19 13 12 12 14 20 21 15 17 

 
 

&45?<FO 3 �59T>F< F4 >5EO7< ?V4?D<T<=<FL>>W 4VO?L=>EFV 
�>>47=<>< �4DV4=F  &V=4 

<4F5DV4?G, 
7D=./F. 

�4DFVEFL 6V4E>4V6, % 
6V4 64DF>EFV <4F5DV4?G � � � � � � 

1 2 3 4 5 6 7 8 9 10 
�<D>5=<G4 
?D>7D4<4, 

0 1100 1030 1200 1150 1250 1210   
1 1150 1050 1100 1000 1220 1170 
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>4<=<FL 2 1200 1070 1150 1040 1220 1080   

3 1120 1090 1250 1060 1240 1110 
4 1050 1100 1300 1080 1260 1130 
5 1210 1120 1310 1100 1280 1150 
6 1170 1140 1320 1120 1300 1250 
7 1080 1160 1330 1130 1320 1300 
8 1110 1170 1340 1140 1340 1240 
9 1130 1180 1350 1160 1360 1260 

�?4= ?>EF4G4==O, 
>4<=<FL 

 1090 1050 1180 1020 1200 1220   

�>D<4 
FDG4><VEF>>EFV, 

=>D<>-7>4. 

76,2 79,6 28,2 48,2 22,8 38,4   

%5D54=O 7>4<==4 
F4D<D=4 EF46>4, 

7D=. 

 9,27 9,1 9,65 9,5 10,0 9,75   

�>D<< 6<44F>G 
<4F5DV4?G, 
>7./>4<=<FO 

         

�4F5DV4? 1  183 162 330 183 162 165 17000 2 
�4F5DV4? 2  18 135 78 14 78 65 12700 3 
�4F5DV4? 3  114 202 28 28 60 24 10500 6 
�4F5DV4? 4  26 30 28 30 28 30 8900 7 

 

�5D5?V> =>D<4F<6V6: 
1. �4DFVEFL 4>?><V6=<E <4F5DV4?V6 3 7 % 6V4 64DF>EFV >E=>6=<E <4F5DV4?V6 74 
6<>?NG5==O< 6V4E>4V6. 
2. �4?4=E D>5>G>7> G4EG 3 1850 7>4./G>?. 
3. '<E5?L=VEFL 4>?><V6=<E D>5VF=<>V6 30 % 6V4 G<E5?L=>EFV >E=>6=<E. 
4. '<E5?L=VEFL 5000 7D=. 
5. %5D54=O 7>4<==4 F4D<D=4 EF46>4 4>?><V6=<E D>5VF=<>V6 21 7D=. 
6. �D5<VO >E=>6=<< D>5VF=<>4< 3 20 %, 4>?><V6=<< 10%, >5DV6=>7> ?5DE>=4?G 30% 
6V4 74D>5VF=>W ??4F< 74 F4D<D><. 
7. �>??4F< V 4>44F>>64 74D>5VF=4 ??4F4 15% 6V4 74D>5VF=>W ??4F< 74 F4D<D><. 
8. �V4D4EG64==O =4 E>FV4?L=V 74E>4< 22% 6V4 74D>5VF=>W ??4F< 74 F4D<D>< V 4>??4F. 
9. �4=>D47>6V 74>E>G5==O F4 6<=47>D>4< 3 1% 6V4 74D>5VF=>W ??4F< 74 F4D<D><. 
10. &V=4 5?5>FD>5=5D7VW 3 0,9 7D=. 74 1 >�F. 
11. �>D<4 4<>DF<74FV==<E 6V4D4EG64=L: 6<D>5=<G5 >5?44=4==O 15%, 5G4V6?V 5%, 
64DFVEFL 1 <3 5G4V6?V 7500 7D=. 
12. �>E?G7< 4>?><V6=<E F5EV6. 
- G E>?44V 6<FD4F =4 >5E?G7>6G64==O 6<D>5=<FF64 3 50% 6V4 74D>5VF=>W ??4F< 74 
F4D<D><. 
- G E>?44V 6<FD4F =4 G?D46?V==O 6<D>5=<FF6>< 3 25% 6V4 74D>5VF=>W ??4F< 74 F4D<D><. 
13. �4<V=VEFD4F<6=V 6<FD4F< V 6<FD4F< =4 75GF 3 8% 6V4 6<D>5=<G>W E>5V 64DF>EFV. 
14. �>D<4 D5=F455?L=>EFV ?D>4G>FVW �- 20%, � 3 15%, � 3 22%, � - 18%, � 3 23%, � 3 
25%. 
15. �>44F>> =4 ?D<5GF>> 18%. 
16. �D5>F<6=<= D>=4 D>5>G>7> G4EG GEF4F>G64==O 4000 7>4<= 6 DV>. 
17. �<44F>> >E6VF?N64?L=>W 5?5>FD>5=5D7VW 2% 6V4 6<44F>G DGLV==>W 5?5>FD>5=5D7VW. 
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8. �5F>4< =46G4==O 
 

�V4 G4E 6<6G5==O 4<EF<??V=< «�?4=G64==O V >>=FD>?L =4 ?V4?D<T<EF6V» 
6<>>D<EF>6GNFLEO =4EFG?=V <5F>4< =46G4==O: 

74 465D5?4<< 7=4=L 6<>>D<EF>6GNFLEO F4>V <5F>4< =46G4==O: E?>65E=V 3 
D>7?>6V4L, ?>OE=5==O, ?5>FVO, V=EFDG>F46; =4>G=V 3 45<>=EFD4FVO, V?NEFD4FVO; 

74 E4D4>F5D>< ?>7V>< ?V7=4==O 6<>>D<EF>6GNFLEO F4>V <5F>4<: 4=4?VF<G=<=, 
E<=F5F<G=<=, 4=4?VF<>>-E<=F5F<G=<=, V=4G>F<6=<=, 454G>F<6=<=; 

74 DV6=5< E4<>EFV==>W D>7G<>6>W 4VO?L=>EFV 6<>>D<EF>6GNFLEO <5F>4<: 
?D>5?5<=<=, G4EF>>6>-?>LG>>6<=, 4>E?V4=<FL><=. 

�E=>6=<<< <5F>44<< =46G4==O T ?5>FVW, ?D4>F<G=V 74=OFFO, <5F>4 >5=EV6. 
�5>FVO - F5 <5F>4 =46G4==O, O><= ?5D5454G4T D>7>D<FFO G E?>65E=V= D>D<V 

EGF=>EFV O6<M, =4G>>6<E ?>=OFL, ?D>F5EV6, O>V 7=4E>4OFLEO <V6 E>5>N 6 
?>7VG=><G 76'O7>G, >59T4=4=V 7474?L=>N F5<>N. 

�D4>F<G=5 74=OFFO 3 F5 D>D<4 =46G4?L=>7> 74=OFFO, ?D< O>V= 6<>?444G 
>D74=V7GT 45F4?L=<= D>77?O4 EFG45=F4<< >>D5<<E F5>D5F<G=<E ?>?>65=L 
=46G4?L=>W 4<EF<??V=< F4 D>D<GT 6<V==O V =46<G>< WE ?D4>F<G=>7> 74EF>EG64==O 
L?OE>< V=4<6V4G4?L=>7> 6<>>=4==O EFG45=F>< 6V4?>6V4=> ED>D<G?L>64=<E 
74644=L. 

�5F>4 >5=EV6   3   F5E=V>4   =46G4==O, M>   6<>>D<EF>6GT   >?<E   D54?L=<E 
5>>=><VG=<E, E>FV4?L=<E V 5V7=5E-E<FG4FV=. &V, M> =46G4NFLEO ?>6<==V 
4>E?V46G64F< E<FG4FVN, D>7V5D4F<EO 6 EGFV ?D>5?5<, 74?D>?>=G64F< <>6?<6V 
DVL5==O V 6<5D4F< =4=>D4M5 7 =<E. 

 
9. �5F>4< >>=FD>?N 

 
�>F>G=<= >>=FD>?L 
� ?D>F5EV ?>F>G=>7> >>=FD>?N 74V=E=NTFLEO ?5D56VD>4 74?4<9OF>6G64==O 

F4 D>7G<V==O ?D>7D4<=>7> <4F5DV4?G, =45GFFO 6<V==O V =46<G>> >>=>D5F=<E 
D>7D4EG=>V6 F4 >5�DG=FG64=L, >?D4FN64==O, ?G5?VG=>7> F4 ?<EL<>6>7> 6<>?44G 
(?D575=F4FVW) ?56=<E ?<F4=L 4<EF<??V=<. 

�>F>G=<= >>=FD>?L 74V=E=NTFLEO L?OE>< >?<FG64==O 45> F5EFG64==O ?V4 
G4E ?5>FV= F4 ?D4>F<G=<E 74=OFL, 4 F4>>6 74 ?V4EG<>4<< E<EF5<4F<G=>EFV V 
4>F<6=>EFV D>5>F< EFG45=F4 ?D>FO7>< E5<5EFDG. ' D47V =56<>>=4==O 74644=L 
?>F>G=>7> >>=FD>?N 7 >59T>F<6=<E ?D<G<=, EFG45=F <4T ?D46> E>?4EF< WE 
V=4<6V4G4?L=> 4> >EF4==L>7> ?D4>F<G=>7> 74=OFFO. �>DO4>> >D74=V74FVW F4>>7> 
>>=FD>?N 6<7=4G4T 6<>?444G, O><= ?D>6>4<FL ?D4>F<G=V 74=OFFO. $57G?LF4F< 
?>F>G=>7> >>=FD>?N 7=4=L EFG45=FV6 74=>EOFLEO 4> D>5>G>7> 6GD=4?G 6<>?444G4 
F4 4>6>4OFLEO 4> 6V4><4 EFG45=FV6. %<EF5<4F<G=VEFL V 4>F<6=VEFL D>5>F< EFG45=F4 
?D>FO7>< E5<5EFDG >>=FD>?NNFLEO V >FV=NNFLEO 74 F4><<< 6<44<< D>5>F<: 
6V46V4G64==O ?5>FV==<E 74=OFL; 6<EFG?< =4 ?D4>F<G=<E 74=OFFOE; GG4EFL 6 
>57>6>D5==V ?<F4=L ?56=>W F5<<; 6V4?>6V4V =4 74?<F4==O 
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6<>?444G4 M>4> WE EGFV; F5EFG64==O; ?V47>F>6>4 D5D5D4FV6 74 >>D5<<<< 
?<F4==O<<; GG4EFL G EFG45=FEL><E >>=D5D5=FVOE, >?V<?V444E, >>=>GDE4E 7 
?D>5?5< 4<EF<??V=<. 

�>4G?L=<= >>=FD>?L. 
�>4G?L=<= >>=FD>?L 74V=E=NTFLEO G D>D<V >>=FD>?L=<E D>5VF 74 >>D5<<<< 

G4EF<=4<< 4<EF<??V=< (<>4G?O<<). �?O >>=FD>?N 4<EF<??V=4 «�?4=G64==O V 
>>=FD>?L =4 ?V4?D<T<EF6V» ?>4V?5=4 =4 2 <>4G?V. 

&<?>64 EFDG>FGD4 >>=FD>?L=>W D>5>F< E>?444TFLEO 7 F4><E 5?5<5=FV6: 
�. &5>D5F<G=4 G4EF<=4 3 D>7>D<F< 7<VEF F5>D5F<G=<E ?<F4=L, <>6?<6> 

=465EF< DO4 ?>>47=<>V6 4?O 5V?LL ?>6=>7> D>7>D<FFO ?<F4==O F4/45> F5EF>6V 
74644==O. 

��. �D4>F<G=4 G4EF<=4 3 74V=E=<F< D>7D4EG=>> 74?D>?>=>64=<E 7444G F4 
7D>5<F< =5>5EV4=V 6<E=>6><. 

�4 6V4EGF=>EFV EFG45=F4 =4 >>=FD>?L=><G 74E>4V 557 ?>646=<E ?D<G<= <>4G?L 
66464TFLEO =5 >?4=>64=<<. �5D5E>?444==O <>4G?V6 74V=E=NTFLEO G F5D<V=<, 
6<7=4G5=V 6<>?444G5<. $57G?LF4F< <>4G?L=>7> >>=FD>?N 4>6>4OFLEO 4> 6V4><4 
EFG45=FV6. 

�V4EG<>>6<= >>=FD>?L. 
�V4EG<>>6<= >>=FD>?L 3 >><??5>E=5 >FV=N64==O O>>EFV 74E6>T==O 

=46G4?L=>7> <4F5DV4?G 4<EF<??V=< 74 6EV<4 6<44<< =46G4?L=<E 74=OFL. 
�V4EG<>>6<= >>=FD>?L 74V=E=NTFLEO G D>D<V 5>74<5=G. �E=>6=<< 74644==O< 
74?V>G F4 5>74<5=G T ?5D56VD>4 D>7G<V==O EFG45=F4<< ?D>7D4<=>7> <4F5DV4?G 
4<EF<??V=< 6 FV?><G, D>7G<V==O ?>7V>< F4 674T<>769O7>V6 <V6 >>D5<<<< 
D>74V?4<<, 744F=VEFL F6>DG> 6<>>D<EF>6G64F< >FD<<4==V 7=4==O. 

�V4EG<>>6<= >>=FD>?L 74V=E=NTFLEO G F5EF>6V= D>D<V. 
' D47V 6<>>=4==O EFG45=F>< 6EVE 6<4V6 ?>F>G=<E F4 <>4G?L=<E >>=FD>?L=<E 

74E>4V6 E5<5EFD>6<= >>=FD>?L <>65 ?D>6>4<F<EL 557 GG4EFV EFG45=F4 L?OE>< 
6<7=4G5==O EG<4D=<E D57G?LF4FV6 46>E <>4G?L=<E >>=FD>?V6 F4 D57G?LF4FV6 
?>F>G=>W D>5>F<. 

�?O D>D<G64==O ?V4EG<>>6>W >FV=>< 7=4=L EFG45=FV6 74 ?>F>G=>N EG<>N 
54?V6 V >45D64=<<< 54?4<< =4 5>74<5=V 6<>>D<EF>6GTFLEO G=VDV>>64=4 L>4?4 
>FV=N64==O 7 ?5D56545==O< >45D64=<E 54?V6 6 FD44<FV==G L>4?G >FV=>> F4 6 
>FV=>< �%&S. 

�D< >45D64==V EFG45=F>< >FV=>< «2» 6V= ?>6F>D=> E4<>EFV==> >?D4FL>6GT 
V ?<EL<>6> ?>44T 6EV D>769O7>< <>4G?L=V 74644=L V F5EFV6 6<>?444GG 4?O 
6<DVL5==O ?<F4==O M>4> D>D<G64==O ?V4EG<>>6>W >FV=><. 
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A �V4<V==> �4D4E>64=> 90-100 
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�>5D5 �4D4E>64=> 

82-89 

C 74-81 

D 
�44>6V?L=> �4D4E>64=> 

64-73 

E 60-63 

FX 
�5744>6V?L=> 

�5 74D4E>64=> 35-59 

F �5 74D4E>64=> 0-34 
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